1/Vypočítej:
87,4  . 10 =		12,3 . 100 =		0,5 . 100 =	
1,5 . 1000 =		0,0045 . 100 =		2,354 . 10 000 =	
 156,4  . 100 =		0,023 . 100 =		0,56 . 100 =	
87,4 : 10 =		12,3 : 100 =		1,5 : 1000 =	
45 : 100 =		354 : 10 000 =		5,64 : 100 =	
156,4  : 100 =		23,5 : 100 =		0,56 : 100 =	
[bookmark: _GoBack]2/Převeď na danou jednotku:
154 cm = _________	m	3,7mm = 	dm	0,23km = _______	m
7 150 mm = 	m	11,62dm =	 cm	23,06cm = 	m
34 cm = 	m	32,7mm = 	cm	156 m = 	km
0,054 m = 	cm	2,5 dm = 	 mm 	4,56 cm = 	 dm
38 mm = 	 dm	58 cm = 	 mm	2054 mm = 	 m
0,2 km = 	m	14 cm = 	 m	5 cm = 	 dm
148 cm = 	 m	1,5 cm = 	 m	0,0054 m = 	 cm
250 mm = 	 dm	3654 mm = 	 m	9 m = 	km

1 524 kg = 	t	3,257 g  = 	mg	0,23kg = 	 g
2 180 mg = 	 g	1,6 t =	 kg	5,06 kg =	 t
94 g =	 kg	68,7 t =	 kg	0,0156 kg = 	 g
0,0504 g =	 mg	0,05 t = 	 g 	84,6 g = 	 kg
 48 mg =	 g	0,25 t = 	 kg	45,06 q = 	kg
0,94 q = 	 kg	35,7 kg =	mg	0,01 g =	 mg

12/Doplň jednotku:
5,6 cm = 56 _______		0,8 m = 80_______		0,054 km = 5	
154 mm = 1,54		3,24km = 3240		6500 m = 6,5	
3 cm = 0,03		35 mm = 0,035		4,5 dm = 450	
